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Q1.Which part of a plant can produce another a new or
a baby plant?

(a)Flower (c) Branch

(b)Flower buds (d) Seed

Q2. Among of these which is not an example of seeds?
(a)Cereals (c) Pulses

(b) Flour (d) Fruits and vegetables

Q3. Which part of a seed protects it?
(a)Seed coat (c) Embryo

(b)Stored food (d) None of these

Q4. Which part of a seed known as The Baby Plant?

(a) Stored food (c) Seed coat

(b) Embryo (d) None of these

Q5. Among of these which is not a seed dispersal agent
?

(@) Soil (c) Air

(b) Water (d) Animals or birds
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Q6. What is seed dispersal?

(a) Growing of seeds (c) Digging of seeds

(b) Movement ,spread or transport of seeds (d) None of these

Q7. Among of these which seeds disperse through air?

(a)Coconut (c) Jewel-weed

(b)Dandelion (d) Lotus

Q8. Among of these which seeds disperse through

water?
(a) Cottonwood (c) Beggar tricks
(b) Violets (d) Fruits of willow

Q9. What is the reason for putting seeds like pulses in
airtight container?

(a) To avoid air (c) to avoid moisture which affect seeds
(b) To keep away insects (d) All of these

Q10. What conditions are required by a seed to convert
into a new plant?

(a) Proper temperature (c) Water and air

(b) Sunlight and nutrients (d) All of these
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Q 11. Among these which is not an example of spices?

(a) Wheat (c) Cumin

(b) Black pepper (d) Aniseed

Q12 . Among these which is not an example of pulses?

(a) Chickpeas (c) Barley

(b) Green lentils (d) Gram

Q13. Among these which seeds have not originated

from India ?
(a) Banana (c) Coffee
(b) Spinach (d) Brinjal

Q14. Among these which seeds have not originated
from South America ?

(a) Bhindi (c) Green chilli
(b) Tomato (d) Potato

Q15. Among these which seeds have not originated
from Europe ?

(a) Coffee beans (c) Cabbage

(b) Pea (d) Option b and c
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